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LOGICAL PICTURE PUZZLES

THE ART OF LOGIC

HOW TO SOLVE THE PUZZLES

In case these are new to you, here’s a brief introduction to this exciting and addictive puzzle. Your aim is
to colour in certain squares in the grid to form a picture. The only clues you have are the numbers at the
end of each line. These tell you, in order from Top or Left, the number of coloured squares in each block.
Each block of colours is separated by at least one white square. So 2 6 means there are two coloured
squares followed by one or more empty squares, followed by a block of six coloured squares.
Solving depends on the ability to cross-reference these clues and apply logical deduction.

2111112111211 f } 2| As a start: the left- - Whichever is correct, the squares next
— 64111]11126| hand column (2 6) to the arrows must be coloured in,
11 1] can only be coloured « Ssowe have one square of the 2
f f - in three ways: <« and five of the 6. This filling can be
11 1 :.- repeated in Column ten.
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Now look at the second row across (1 1). Both these single blocks have been (2; 1 } f } f } 1 ; %
coloured in so we know the rest of the line must be empty. Put a small X in 2 2 X
each cell known to be empty. Next, have a look at column four (2 1). The top ; ; XIXIXIXIX | XIX X
block is of two squares but the second square down is known to be empty. 11
So the square above it must also be empty. Another X can be entered. Row }
seven starts with a block of two and the first has been filled, so fill in the EERE X[ XX} X[ XX
second one and put a X next to it. Do the same at the other end of that row. 2112
Now fill the rest of that row with X’s. 33
211 Another X can be placed in row six column two and this means the block
g i 1 % 1 % } } ; 2 of four coloured squares in column two must occupy the bottom four squares
22 XXX [XTX]X in that column.
; ; . ))(( X X ;(( § X X § «| More Xs and fills follow. Continue cross-referencing rows and columns
1 1|x[x/x M x|x x X /X| and logically mark in the coloured and - just as vital - the empty squares
1 X XX [ X X[ X . . .
1 XX XX until the picture is complete.
211 1 2 ))f X ;(( X ))(( X x[ | Note: all Hanjie puzzles supplied by Conceptis are solvable
21 ; g X >; . § . X by pure logic alone - trial and error is never needed.




PUPPY

AN AN

M=

AN ™A ™

QA v

-<tr—m

T aANMmm™m

ANT™vr™—o

™ QAN ™ v

v QA<

ND™O v

ANMy™v—QN

MOANT™AN ™

TMO™m

4 4
8 2
3112

2121

124
4 1

1

222
122
541
221
322

21111

1341
31112

35

00010017368

© Conceptis Puzzles

FATHER WITH BABY

N~aoN

N

ANLO N ™

O AN

NTLO™M

ANT™AN™ANAN

-

T

< AN

O AN AN

OANM™—

ANANANANAN

AN ANLON

™ QAN™r—Mm

ANANAN™QN

<<t

AN™y~—v—Q

- QN

1213

413
4122

2111

13
56
721

1

323
2224
12215

1110
2225
23211
232112

62121
71111
221111

11111111

212133

2244

00010017220

© Conceptis Puzzles



READING
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